Exposants de 10

Nom: Date: Note: _
102 = 10° =

-2 x10° = -3 x 10° =
4,48 + 10° = 4% 10° =
10% = 2,76+ 107 =
3,54 % 10° = 1x10° =
9,27+ 10° = 9,42+ 10 =
-2 x10% = 10* =
4%10= 10° =
4x10° = 1,62+ 10 =
6x10° = 9x 10% =
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Exposants de 10

10 = 100

—2 x 10° = —200000
4,48+ 10° = 0.00448
10> = 100

3,54 x 10* = 354
9,27 +10° = 0.00927
—2 x 10* = —20000
4% 10 = 40

4 x 10° = 400000

6 x 10° = 600000

Date: Note:

10° = 1000

—3 x 10° = —3000

4 % 10° = 4000
2,76 + 10* = 0.0276
1 x 10* = 1000
9,42 + 10 = 0.942
10* = 10000

10° = 1000

1,62+ 10=0.162

9 x 10> = 900
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